1.5A Working with Radicals.notebook September 16, 2025

Lesson 1.5A Working With Radicals

index _ |
radicand refers to some irrational numbers

(radicand not a perfect square)
Properties of Radicals:
1) Multiplication
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In general:
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Radicals can be: Entire or Mixed

Jn avb

Sometimes entire radicals can be changed to mixed radicals by simplifying.

Ex. 1 Change Entire Radicals to Mixed Radjcals>y rese Two
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A radical is in simplest form if:

1. The radical has no perfect square factors other than 1 in the radicand.

2. There are no fractions undera <. \/%

3. There are no+ in the denominator. 1
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Multiplying and Dividing Radicals:
Ex. 2 Simplify.
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/Rationalizing the Denominat}

Multiply both the numerator and
the denominator by the radical in
the denominator.

Squaring the radical will

eliminate it from the
\ denominator. /
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Adding and Subtracting Radicals:

Algebra: Collect like terms. Radicals: Collect like radicals.
Like Terms Like Radicals
Same variables, same exponents Same index, same radicand
Example: Example: [z
Ple 20 1y, 2 4=

Counter-example: Q%? ) 3/)( Counter-example: 1= > %
Ex. 3 Are the following radicals like or unlike?

a) 24/3,-3v3,4V3  b) J4,42,3  oV&8, V2,432 d)i3,43,43
71 25 V3 403
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Ex. 4 Add or Subtract.

a) 27 +4/20 =12 + /45 b) 7v/2 —6+/63 —+/28 +5/18
=33+ s -~ 2Tz v 305 s 21803 -205+ 152
=R +50= <2282 —2003
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Homeweork
p- 167 H 1-7, 15ab, 16

\V,
@Q"&ck TH \ = m You CANNOT split up the radical across a
qu\ + or —sign.
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